
https://www.pass4itsure.com/4a0-104.html
2024 Latest pass4itsure 4A0-104 PDF and VCE dumps Download

 

 

 

4A0-104Q&As

Alcatel-Lucent Services Architecture

Pass Alcatel-Lucent 4A0-104 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/4a0-104.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

 

 

4A0-104 VCE Dumps | 4A0-104 Practice Test | 4A0-104 Braindumps                                1 / 3

https://www.pass4itsure.com/4a0-104.html
https://www.pass4itsure.com/4a0-104.html
https://www.pass4itsure.com/4a0-104.html


https://www.pass4itsure.com/4a0-104.html
2024 Latest pass4itsure 4A0-104 PDF and VCE dumps Download

QUESTION 1

Which of the following statements is TRUE regarding service mirroring? 

A. Mirror slicing is used to logically separate a port that is being monitored. 

B. Mirror slicing configuration is earned out in the mirror destination. 

C. By default, mirror slicing is enabled so that only the protocol headers of data traffic are replicated to a mirror port. 

D. The maximum number of mirror slices that can be made on a network and access port are 256 and 8, respectively 

Correct Answer: B 

 

QUESTION 2

What distinguishes a VPLS service from a VPWS service? 

A. VPLS supports point-to-point connections. 

B. VPLS supports multipoint-to-multipoint connections 

C. VPLS supports a distributed service 

D. VPLS supports a local service on a single node. 

Correct Answer: B 

 

QUESTION 3

Which of the following statements is TRUE concerning a VPRN data plane flow? 

A. A data packet will receive a service label at the CE and a transport label at the ingress PE. 

B. A data packet intended for a remote CE will have its service label swapped at each P router along the path towards
the egress PE. 

C. At the egress PE, the transport label will be popped and the data packet forwarded with the service label. 

D. The service label is popped by the remote CE. The unlabeled packet is forwarded based on the longest match lookup
algorithm in the VRF. 

E. All of the above statements are false. 

F. All of the above statements are true. 

Correct Answer: E 

 

QUESTION 4
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Which of the following about the components of a distributed service on the Nokia 7750 SR is TRUE? 

A. A SAP can only be used by one service on a router. 

B. A dedicated SDP needs to be created for each service. 

C. A service is created on each site before the customer is created. 

D. SAPs must be created before a service is created. 

Correct Answer: A 

 

QUESTION 5

What is the minimum Ethernet physical network MTU required for a Layer 2 service on an MPLS encapsulated SDP
with a service MTU of 1500? 

A. 1500 

B. 1508 

C. 1514 

D. 1522 

Correct Answer: D 
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